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 SIGNIFICANCE LEVEL FOR TWO-TAILED TEST
df .20 .10 .05 .02 .01 .001
1 3.078 6.314 12.706 31.821 63.657 636.619
2 1.886 2.920 4.303 6.965 9.925 31.598
3 1.638 2.353 3.182 4.541 5.841 12.941
4 1.533 2.132 2.776 3.747 4.604 8.610
5 1.476 2.015 2.571 3.365 4.032 6.859

10 1.372 1.812 2.228 2.764 3.169 4.587
20 1.325 1.725 2.086 2.528 2.845 3.850
30 1.310 1.697 2.042 2.457 2.750 3.646
40 1.303 1.684 2.021 2.423 2.704 3.551
60 1.296 1.671 2.000 2.390 2.660 3.460

120 1.289 1.658 1.980 2.358 2.617 3.373
∞ 1.282 1.645 1.960 2.326 2.576 3.291
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 F = F (x, y, z,)

F − Ftrue =
∂F
∂x

x − xtrue( )+ ∂F
∂y

y − ytrue( )+ ∂F
∂z

z − ztrue( )+

εx = x − xtrue
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Nom.	
  Value	
   error%	
   error	
   error	
  term	
  

β 4261	
   1%	
   42.61	
   0.23	
  

R	
  (Ω)	
   	
  3,700,000	
  	
   10%	
   370000	
   1.75	
  

T	
  (K)	
   	
  273.14	
  	
   1.77	
  

T0	
  (K)	
   298.15	
  

R0	
  (Ω)	
   1000000	
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Value	
   Nominal	
   β	
  +	
  1%	
   β	
  –	
  1%	
   R	
  +	
  10%	
   R	
  –	
  10%	
  

T0	
  (K)	
   298.15	
   298.15	
   298.15	
   298.15	
   298.15	
  

R0	
  (Ω)	
   	
  1,000,000	
  	
  	
  1,000,000	
  	
  	
  1,000,000	
  	
  	
  1,000,000	
  	
  	
  1,000,000	
  	
  

β 4261	
   4303.61	
   4218.39	
   4261	
   4261	
  
R	
  (Ω)	
   	
  3,700,000	
  	
  	
  3,700,000	
  	
  	
  3,700,000	
  	
  	
  4,070,000	
  	
  	
  3,330,000	
  	
  
T	
  (K)	
   273.14	
   273.37	
   272.91	
   271.49	
   275.00	
  
∆T	
  (K)	
   0.46	
   -­‐3.52	
  
error	
  (K)	
   3.55	
  

±error	
  (K)	
   1.77	
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Nom.	
  Value	
   error%	
   error	
   error	
  term	
  

A1	
   3.354016E-­‐03	
   0.1%	
   3.35402E-­‐06	
   0.318	
  

B1	
   2.460382E-­‐04	
   1%	
   2.46038E-­‐06	
   -­‐0.104	
  

C1	
   3.405377E-­‐06	
   1%	
   3.40538E-­‐08	
   0.001	
  

D1	
   1.034240E-­‐07	
   1%	
   1.03424E-­‐09	
   0.000	
  
R	
  (Ω)	
   64080	
   3%	
   1922.4	
   0.692	
  
T	
  (K)	
   308.15	
   0.769	
  

Rref	
   	
  100,000	
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Value	
   Nominal	
   A1	
  +0.1%	
   A1	
  –0.1%	
   B1	
  +1%	
   B1	
  –1%	
   C1	
  +1%	
   C1	
  –1%	
   D1	
  +1%	
   D1	
  –1%	
   R	
  +3%	
   R	
  –%	
  

A1	
   0.003354016	
   0.00335737	
   0.003350662	
   0.003354016	
  0.003354016	
  0.003354016	
  0.003354016	
  0.003354016	
  0.003354016	
   0.003354016	
   0.003354016	
  

B1	
   0.000246038	
   0.000246038	
   0.000246038	
   0.000248499	
  0.000243578	
  0.000246038	
  0.000246038	
  0.000246038	
  0.000246038	
   0.000246038	
   0.000246038	
  
C1	
   3.40538E-­‐06	
   3.40538E-­‐06	
   3.40538E-­‐06	
   3.40538E-­‐06	
   3.40538E-­‐06	
   3.43943E-­‐06	
   3.37132E-­‐06	
   3.40538E-­‐06	
   3.40538E-­‐06	
   3.40538E-­‐06	
   3.40538E-­‐06	
  
D1	
   1.03424E-­‐07	
   1.03424E-­‐07	
   1.03424E-­‐07	
   1.03424E-­‐07	
   1.03424E-­‐07	
   1.03424E-­‐07	
   1.03424E-­‐07	
   1.04458E-­‐07	
   1.0239E-­‐07	
   1.03424E-­‐07	
   1.03424E-­‐07	
  
Rref	
   	
  100,000	
  	
   	
  100,000	
  	
   	
  100,000	
  	
   	
  100,000	
  	
   	
  100,000	
  	
   	
  100,000	
  	
   	
  100,000	
  	
   	
  100,000	
  	
   	
  100,000	
  	
   	
  100,000	
  	
   	
  100,000	
  	
  
R	
   	
  64,080	
  	
   	
  64,080	
  	
   	
  64,080	
  	
   	
  64,080	
  	
   	
  64,080	
  	
   	
  64,080	
  	
   	
  64,080	
  	
   	
  64,080	
  	
   	
  64,080	
  	
   	
  66,002	
  	
   	
  62,158	
  	
  
Tcalc	
   308.15	
   307.83	
   308.47	
   308.25	
   308.04	
   308.15	
   308.15	
   308.15	
   308.15	
   307.47	
   308.85	
  
∆T	
   -­‐0.64	
   0.21	
   0.00	
   0.00	
   -­‐1.39	
  
error	
   1.539	
  
error	
  ±	
   0.769	
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S > 10q
12

q
12

< S < 10q
12

Sused = S2 + q
2

12

S < q
12

±q / 2

q =10V 1
212

= 10V
4096

= 0.027V
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